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If you are not using the annualized income installment
method or the adjusted seasonal installment method, follow
the instructions below to figure the amounts to enter on line
14. (If you are using the annualized income installment
method and/or the adjusted seasonal installment method,
these instructions apply to line 41 of Schedule A.)

If line 12a is smaller than 12b: Enter 25% of line 12a in
columns (a) through (d) of line 14.

If line 12b is smaller than line 12a: In column (a) of line 14,
enter 25% of line 12b. In column (b), determine the amount
to enter by: (i) subtracting line 12b from line 12a, (ii) adding
the result to the amount on line 12a, and (i) multiplying the
total by 25%. In columns (c) and (d), enter 25% of line 12a.

Schedule A Instructions

If you are using only the annualized income installment
method (Part I), complete Parts | and Ill of Schedule A. If you
are using only the adjusted seasonal installment method
(Part Il), complete Parts Il and Il of Schedule A. If you are
using both methods, complete all 3 parts of Schedule A.
Enter in each column on line 14 of page 1 the amounts from
the corresponding column of line 45 of Schedule A.

Caution: If Schedule A is used, do not attempt to figure any
required installment until after the end of the month
preceding the due date for that installment.

For each part that applies to you, complete each column
in its entirety before going to the next column. For example,
if Parts | and Il are required, complete column (a), lines 1
through 16, and column (a), lines 40 through 45, before
starting column (b).

Part | ® Annualized Income Installment
Method

Line 9.DP Enter the taxes the organization owed because of
events that occurred during the months shown in the
headings used to figure annualized taxable income. Include
the same taxes used to figure line 9 of Form 990-W.

Compute the alternative minimum tax and the
environmental tax for tax-exempt corporations by figuring
alternative minimum taxable income and modified alternative
minimum taxable income based on the organization’s income
and deductions during the months shown in the column
headings used to figure annualized taxable income. Multiply
the alternative minimum taxable income by the annualization
amounts used to figure annualized taxable income (line 2 or
5) before subtracting the exemption amounts (see sections
55(d) and 59A(a)(2)).

Line 11.D Enter the credits to which you are entitled because
of events that occurred during the months shown in the
column headings used to figure annualized taxable income.

Line 15.D In column (b), enter the amount from line 45,
column (a), Part lll, page 3. In column (c), enter the sum of
the amounts in line 45, columns (a) and (b). In column (d),
enter the sum of the amounts in line 45, columns (a), (b),
and (c).

Part 11 B Adjusted Seasonal Installment
Method

Do not complete this part unless the organization’s base
period percentage for any 6 consecutive months of the tax
year equals or exceeds 70%. The term “base period
percentage” for any period of 6-consecutive months is the
average of the three percentages figured by dividing the
taxable income for the corresponding 6 consecutive-month
period in each of the 3 preceding tax years by the taxable
income for each of their respective tax years.

Example: A tax-exempt organization that has a calendar year
as its tax year receives the largest part of its unrelated
business taxable income during the 6-month period from
May through October. To compute its base period
percentage for the period May through October 1993, the
organization must figure its taxable income for the period
May through October in each of the years 1990, 1991, and
1992. The taxable income for each May-through-October
period is then divided by the total taxable income for the tax
year in which the period is included, resulting in the
following: .69 for May through October 1990; .74 for May
through October 1991; and .67 for May through October
1992. The average of .69, .74, and .67 is .70. Therefore, the
base period percentage for May through October 1993 is
70% and the organization qualifies for the adjusted seasonal
installment method.

Line 33.D Enter the taxes the organization owed because of
events that occurred during the months shown in the column
headings above line 17 of Part Il. Include the same taxes
used to figure line 9 of Form 990-W.

Compute the alternative minimum tax and environmental
tax by figuring alternative minimum taxable income and
modified alternative minimum taxable income based on the
organization’s income and deductions during the months
shown in the column headings above line 17 of Part Il. Divide
the alternative minimum taxable income and modified
alternative minimum taxable income by the amounts shown
on line 24 before subtracting the exemption amounts (see
sections 55(d) and 59A(a)(2)). For columns (a) through (c)
only, multiply the alternative minimum tax and environmental
tax so determined by the amounts shown on line 31.

Line 35.D Enter the credits to which you are entitled because
of events that occurred during the months shown in the
column headings above line 17 of Part II.

Line 38.D In column (b), enter the amount from line 45,
column (a), Part Ill, page 3. In column (c), enter the sum of
the amounts in line 45, columns (a) and (b). In column (d),
enter the sum of the amounts in line 45, columns (a), (b),
and (c).



